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TODAY’S TASKS

Make side-by-side boxplots
Calculate grouped summary statistics
Do t-test

Do simple linear regression




MAKE SIDE-BY-SIDE BOXPLOT - |

ﬁ Console

File Edit Workspace Data Analysis _Plots Extras Packages & Data Window Help

|. Go to Plots >

Plot Builder
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MAKE SIDE-BY-SIDE BOXPLOT - 2
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MAKE SIDE-BY-SIDE BOXPLOT - 2
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GROUP SUMMARY STATISTICS -- |

ﬁ Console
File Edit Workspace Data Analysis Plots Extras Packages & Data Window Help

|. Go to Analysis
> Descriptives

5 YLK @ a2

2. Put the variable

ﬁ Descriptives

for calculating the
statistics here

idat [ Descriptives of:
. Eilter: | | MainRadon
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starting httpd helg Foundation
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GROUP SUMMARY STATISTICS -- 2

* Console
File Edit Workspace Data Analysis Plots Extras Packages & Data Window Help

DlvE ete el F @ e |. Put the statistics

IITIg. oL ] LTOL
Type 'g{)' to guit * Descriptives )’OU want to run
| here
[Freviously saved i o
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T-TEST

* Console
File Edit Workspace Data Analysis Plots Extras Packages & Data Window Help

U -tl y ﬁ Two Independent Sample Tests

dat v Qutcomes
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Copyright (C | Filter: | | MainRadon.tr |. Put the variable
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radon_subLOD W 5
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|
Mean Central Tendency (AUC) Distribution
T-Test {t':f [ | wilcoxon [ | kolmogorov-
N i N )‘ Smirnov
4. The test result N
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SIMPLE LINEAR REGRESSION
CATEGORICAL PREDICTOR - |

|. Go to Analysis >
Linear Model

* Console

Response: Rad

5
Foundation
Reziduals 10
> Summarylm{m

Call:
Im({formila =

Residuals:
Min
-1.8751 -0.67

Copfficienta:

{Intercept)
FoundationPou
Signif. codes

Besidual stan
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4. Check Continue

|> dat[c("Rado

dat

Filter: | |

UID

Community
MainRadon
Location

Soil

LowerWindow
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Heating

AC

HomeAgel1990
RockType

Potential
MainRadon.tr
Radon_subLOD
Radon_subLODhalf
Radon_subLODroot2

Radon_sublLODhalf.tr

File Edit Workspace Data Analysis Plots Extras Packages & Data Window Help

QOutcome

2. Put the
outcome

‘ IRadon_su bLODroot2.tr

variable here

3. Put the

dichotomise
variable here

As Numeric
As Factor
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’ Weights
Subset

Continue




SIMPLE LINEAR REGRESSION
CATEGORICAL PREDICTOR -

2

@ Linear Regression Model Builder

Qutcomes

Radon_subLODroot2.tr

Variables
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Foundation
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SIMPLE LINEAR REGRESSION
CATEGORICAL PREDICTOR - 3

|£ | Linear Regression Model Explorer — O
;,J.F. f(x) b‘ m Radon_sublLODroct2.ir ~ Foundation
General Diagnostics Terms Added Variable
Preview
A
».gui.working.envémodel.lm <- Im{formula=Radon_sublODrootl.tr ~
undation,data=.gui.working.envidat,na.action=na.omit)
>Anova (.gul.working.envémodel.lm, type="I1"}
Anova Tabkle (Iype II tests)
Response: Radon sublODrooti.tr
Sum Sgq Df F wvalue Pr(>F)
Foundation 0.06 1 0.069 0.7928 _ Export
Regiduals 1000.41 1121
raummarylm(.gui.working.envéimodel. 1lm)
|.You can
preview the |
result here Im{formula = Radon_ subLODrooti.tr ~ Foundation, data = .gui.work
g.envsdat,
na.actiocn = na.omit)
Fesiduals:
Min 10 Median 30 Max v
Update Model
< >
@ Reset Cancel




SIMPLE LINEAR REGRESSION
CATEGORICAL PREDICTOR - 4 T

see this result in

the Console

> summarylm(model.lm)

2.The model
formula Call:
Im{formula = Radon sublODrootl.tr ~ Foundation, data = dat, na.action = na.omit)
Beziduala:
Min 19 Median R Max
3.The model ~1.5522 -0.7022 -0.0909 0.5934 3.5296

coefficients

oefficients:

Estimate 5td. Error t walue Pr{>|tl)
{Intercept) 3.89177  0.07492 51.947 <2e-16 ***
4. The cundationPoured 0.02124  0.08086 0.263  0.793

reference level T
Signif. codes: 0 TExxY 0 001 T*=' Q0,01 **' Q.05 *.* 0.1 " ' 1

is “Other”

Bezidual standard error: 0.9447 on 1121 degrees of freedom

{11l cbkservations deleted duse to missingness)
Multiple B-squared: &.155e-05, Adjusted B-sgquared:s -0.0008305
F-statistic: 0.06% on 1 and 1121 DF, p-wvalue: 0.7928

5. R-squared

and p-value
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